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HHEEEH

o o TH WL E

Ques 31. ANS (A) Solution:

TfAE™ D gUH S § YR d9 & gcah Aol Td 99
IR (1) It BT I gl

The first schedule of the constitution mentions the
constituent states of the Union of India and the Union
(seven) states.
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Although the President is not the de facto head of
administration, all the functions of governance are done in
his name and all the executive officers of the Union are under
him. The President has the power to appoint them. 1. Prime
Minister 2. Other Ministers of Council of Ministers 3. Attorney
General of India 4. Controller General of Audit 5. Judge of
Supreme Court 6. Governor of States 7. Judge of High Court
etc.
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All rights in freedom of citizens to speak and express, the
right to live without arms and peacefully, the right to form
unions, the right to move freely in any part of India, the right
to freedom of state, etc. Article 19 Come under

Ques 34. ANS (C) Solution:
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Rishabhdev is the first Tirthankara of Jainism. Tirthankar
means one who creates a pilgrimage. Those who create the
pilgrimage from Sansar Sagar to Moksha are called
Tirthankars, Rishabhdev ji is also called Adinath. Lord




Rishabhdev was a Digambara Jain monk during

the Atarsarpini period.
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Chandragupta -I was the emperor of India in Maurya. They
are also sometimes referred to as Chandragupta. He founded
the Maurya Empire. Chandragupta succeeded in bringing the
whole of India under one empire. He was the first Gupta ruler
to take the title of Maharajadhiraja.

Ques 36. ANS (B) Solution:
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The battle of Chandavar was fought between Muhammad
Ghori and King Jaichand of Kannauj in which Jaichand was
defeated and died. Ghori invaded India again in 1144 AD
after defeating Prithviraj Chauhan. In the subsequent
invasion, Ghori defeated Prithviraj's first rival Jaychand
Rathore at Chandavar. Jaichand was the king of Kannauj and
he is said to have invited Ghori to climb over Prithviraj.
Jaichand was killed in the battle of Chandavar.
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Bakht Khan was a prominent figure in the history of the
Indian independence movement of 1857. He was a suburb in
the army of the East India Company, Bakht Khan's superior
leadership and military knowledge were clearly excellent, so
Emperor Bahadur Shah gave him full authority and title
"'Saheb -e-Alam Bahadur".
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Vithalbhai Patel was an Indian legislator and political leader,
co-founder of the Swaraj Party and elected to Sardar Patel, a
committee of elected and appointed Indian and British
representatives with legislative powers, and in 1925 became
Speaker or Speaker of the Legislative Assembly.
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In the India Open Badminton Championship, N Seong of
Korea defeated K.K. Won the women's singles title at D.

Jadhav Indoor Stadium. In the final, Ann Siong defeated
World No. 1 Japanese Akane Yamaguchi.
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The entire atmosphere after about 80 kilometers from Earth
is called the ionosphere. The air in the ionosphere is ionized.
The radio waves transmitted from Earth reflect back from this
system and return to Earth again.
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Pampas is the fertile lowlands of South America and extends
to the provinces of Argentina, Minas Aires, La Pampa, Santa
Fe, and Cordoba, most of Uruguay and the southern part of
Brazil, Rio Grande do Sul. Its total area is more than 750000
km.
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Mahatma Gandhi Jog Falls Hydroelectric Power Plant India is
located in Karnataka. The hydro power plant is of type with a
design capacity of 139 MW. It has 8 units.
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The Nilgiri Mountains are a range located in the southern
part of India. This range is part of the Western Ghats. There
are many hill stations in the region which make it a suitable
tourist center. Some parts of the Nilgiri mountain range are
also in Tamil Nadu, Karnataka and Kerala. The Eastern Ghats
on the Nilgiri Mountains meet the Western Ghats.
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In the institutional category, Odisha State Disaster
Management Authority and Lunglei Fire Station, Mizoram
have been selected for the Subhash Chandra Bose Aapda
Prabandhan Puraskar for the year 2023.

Establishment of Odisha State Disaster Management
Authority - 1999

Ques 45. ANS (A) Solution:
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Prime Minister Narendra Modi has launched the 'Call Before
U-DIG' app. The initiative of this app has been taken by the
Department of Telecommunication. This app will protect
underground services like pipelines and wires from damage
caused by new construction projects. With the help of this,
their (underground pipeline/cable) exact location can be
detected and they can be saved from damage.
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Khashaba Dadasaheb Jadhav was an Indian athlete. He is
known as a wrestler who won a bronze medal at the 1952
Summer Olympics in Halasa. He was one of the first athletes
from India to win a medal at the Olympics.
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Krishna Prasad Mathur is an Indian physician and a personal
physician to former Prime Minister of India, Indira Gandhi. He
was one of the last few to meet Indira Gandhi before the
assassination of Beant Singh and Satwant Singh, former
Prime Minister on 31 October 1984. The Unseen Indira
Gandhi "is written by Krishna Prasad Mathur.
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Hypertext Markup Language 'is a standard system for
tagging text files to do font, color, graphic and hyperlink
effects on World Vibe Lab pages.
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Reduction is a chemical reaction that involves obtaining an
electron from one of the atoms involved in the reaction. The
oxygen state of the electron receiving element decreases.
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National Girl Child Day is celebrated every year on 24
January. The day was started by the Ministry of Women and
Child Welfare in the year 2008. Its main objective is to
provide necessary opportunities to girls and lead them
towards development. To reduce the discrimination against
them and encourage them to move forward.
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Pfizer India has announced the appointment of Meenakshi
Neotia as its new CEO and Managing Director. The
appointment of Meenakshi Neotia will be effective from April
3, 2023, Neotia will serve in the role for the next five years.
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Geographical Indication Registry and Intellectual Property
India provided the Chhau Mask of Purulia, the wooden
Mukhete of Kushmandi, the Pachchitra, the Dokra of Bengal,
and the Madhurkathi Geographical Indication Tag.
Geographical indicator is a particular tag assigned to a
product.
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A person's respiratory rate is the number of breaths you take
per minute. For adults, the respiratory rate is 12 to 18
minutes per minute. A respiratory rate below 12 and above
15 is considered uneven at rest.

Ques 54. ANS (C) Solution:

o e foe 4 20 (B20) 3f&am Hie 22-24 WAt 2023 B
TR, ToRTa § ST B 718 | URA 3R 3T G20 T
S=11 & MY AR SifYeiial 4 B20 Sfear die # gwmaxht
faeTe SR aftyes onfdfes Trufirardrett wR == &)

The three-day Business 20 (B20) India Meet was held on 22-
24 January 2023 in Gandhinagar, Gujarat. Top business
officials from India and other G20 member countries
discussed inclusive growth and global economic priorities at
the B20 India Meet.
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North India's largest floating solar project of 2000kWp was
inaugurated at Water Works in Chandigarh. It has been
inaugurated on 23 January 2023 by Banwari Lal Purohit,
Governor of Punjab and Administrator of Chandigarh.
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National emergency under Article 352

Such an emergency was declared in India in 1962 war (China
war), 1971 war (Pakistan war), and 1975 internal disturbance
(declared by Indira Gandhi)

Ques 57. ANS (A) Solution:

adipose tissue

Adipocytes, also known as lipocytes and fat cells, are the cells
that primarily compose adipose tissue, specialized in storing
energy as fat.
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Ques 59. ANS (D) Solution:

On March 4, 2020, the Rashtriya Suraksha Diwas or National
Security Day was celebrated throughout India. The Day is
celebrated to honour the work of Indian Security Forces. This
includes every security personnel, policemen, para military
forces, guards, commandos, army officers, etc. The National
Security Days is being observed on March 4 every year
because, the National Security Council was established on
the very same day.
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Ques 61. ANS (C) Solution:

Megasthenes was an ancient Greek historian, diplomat. He
became an ambassador of Seleucus | Nicator to
Chandragupta Maurya in Pataliputra. He wrote a book called
Indica which is an account of Mauryan India. For his
pioneering work he is regarded as the Father of Indian
History.

Ques 62. ANS (D) Solution:

Rameswaram is a town in Ramanathapuram district in the
Indian state of Tamil Nadu. It is located on an island
separated from mainland India by the Pamban channel and is
less than 40 kilometers from the Jaffna Peninsula, Sri Lanka.
Together with Kashi, it is considered to be one of the holiest
places in India to Hindus.
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Narendra Modi inaugurated the 14th edition of Aero India
2023, Asia's biggest aero show in Bengaluru. Indian Air Force
Chief Air Chief Marshal VR Chaudhary led the Gurukul
formation during the flypast at the opening ceremony of the
mega air show.
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Ques 65. ANS (B) Solution:

The WTO officially commenced on 1 January 1995 under the
Marrakesh Agreement, signed by 123 nations on 15 April
1994, replacing the General Agreement on Tariffs and Trade
(GATT), which commenced in 1948. It is the largest
international economic organization in the world
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Ques 67. ANS (D) Solution:
The battle took place at Palashi (Anglicised version: Plassey)
on the banks of the Hooghly River, about 150 kilometres (93
mi) north of Calcutta and south of Murshidabad, then capital
of Bengal (now in Murshidabad district in West Bengal
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Every year on 13 February, World Radio Day is celebrated all
over the world. The day is observed every year to raise
awareness among the public and media about the
importance of radio and to encourage access to information
through radio.
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Mexican racing driver Sergio Perez has won the title of Saudi
Arabian Grand Prix 2023. In the same Red Bull, his partner
Max Verstappen secured the second position in the race. Last
season, Red Bull had won 17 out of 22 races. Ferrari's
performance was not good, with Ferrari's Carlos Sainz and
Charles Leclerc finishing sixth and seventh respectively.
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Ques 71. ANS (C) Solution:
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Lx 4 Y=(x-y)? +4xy
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Ques 73. ANS (D) Solution:

15/16 = 0.937, 19/20 = 0.95, 24/26 = 0.923, 34/35 = 0.971
Ques 74. ANS (B) Solution:
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Ques 76. ANS (A) Solution:
P,Q, R % 3twq a1y =R # a1 + 5

P+Q+R=R+5=39+R
3

39 +R=3R+15=3R-R=39-15
2R =24 => R =123f a@: R & a1 = 12 7¢
Ques 77. ANS (A) Solution:
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Ques 78. ANS (B) Solution:
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Ques 79. ANS (C) Solution:
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= 80.2+2+1.3 _ &7

=x=35
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= 105 : 330 : 460

=21 : 66°: 92
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10

450x10
9

Ques 82. ANS (A) Solution:

= X= = 500 T

A:B=3:2NB:C=3:2
.',A:B:C=3x3:3x2:2x2=9:6:4

1 A, B, C % 3 FA: 9x, 6%, 4x &

s A% T3 & Rk 9 - C 3 o & ard =TT = 1000

’ 25-2'=1000=>3x—x=1000:>2x=1000=>x=500
"3 A
; Bﬂm=6x=6x500=3000?

Ques 83. ANS (A) Solution:
4, A A i 3 et F sEmm = 27000 81000: 7200039 8
o AU A =34+9+§=20

. BT N = g

20
. 36000 - ™ x
Ques 84. ANS (A) Solution:
AT Y J =%, x
i Had , 3fed Yo (HeT $Urd)
15:25:198 : x

26 = 27

— (16 x z) = (25 x 193}—}3—%—}3—45

3k 15 TCH 3T B DI 45 YU H JATE HR Tl
Ques 85. ANS (A) Solution:

Wsﬁtmm@ﬁ#ﬁﬂmwm=%

ﬂﬁmmﬁfﬂﬁﬁmmm~%

Ques 86. ANS (A) Solution:
ADI 190 @ W@ B = %BW1 e &1 u¥E B =

(A + B) 1190 &1 +3@ s

_(L_L)_“"*z)_i_i
“\ 15/ 30 T~ 30 6
3T TFT T AR TId 8 &1 6 9ue H 13T

Ques 87. ANS (D) Solution:
w1 = x et S qs T

x x X X 2x. %
—t—=5 +—=5>—+=-=5
41’3 [OME 93

2x+3
5 x=5=>%"=5:>x:9 Rt

Ques 88. ANS (C) Solution:

M H A1 = (72 X 5/18) Hicx / JbUS = 20 Hiex / bUs
T B UR PR H O AT = 60 Hicx gl ad =l § &M
T = 60/20 YHTS = 3 HUS

Ques 89. ANS (D) Solution:

(EXiXGO)
YRT & fAeg R A= \4 15 feet/ guer = 4
fodt / guer

. (Exixﬁo)
YRT PG ARB BIamg = \4 15 fopeit/ guer =
6 fopet/ guer

1

id oI H ORIP P A = 2(4+6)%Iﬁ./srua
=5 fabel/ Tuer

Ques 90. ANS (D) Solution:




20x10
= =2
=700 Fen
o e st = 5 faEmn
el 1 yfawr
_5+2  100=28%
25

Ques 91. ANS (D) Solution:
WA 5% W @ T AR = xFe
S 8% T T S ufe -
= (1550 - x) =.
TSR,
xX5x%x3 N (1550 - x)x8x%3
100 100
= 15x+24 x 1550 -24x = 30000
= 9x =-1550 x 24 - 30000
= 37200 - 30000 = 7200
- x= 800 ik
. uferat 800 @en 750 ¥
s, ot 3@ = 800 : 750 = 16 : 15
Ques 92. ANS (B) Solution:
T 9 & FHRY & = 220
HIEROT 2157 20 Fo H A = 40.80 40 = 0.80

1§ % 100
=S = —ux190 _ _ 0.80x100 _ 80 _
R e x §HY 20x1 20" 4%

Ques 93. ANS (D) Solution:
AT 3{TAd B TS = x W), T
108 xr=T2xT2=1 =
3TTd BT AT = 48 Hiex
Ques 94. ANS (C) Solution:

2
CP of one orange =Rs. 3

=300

T2 % 72
o1 o p— 48
108 o

SP of one orange = Rs. 1

2
Profit in one orange = 1—§ = Rs.

For Rs. 10 profit he must sell =

oranges

Ques 95. ANS (D) Solution:

Total runs of 10innings = 10x 77 =770

Total runs of 11innings =770+ 0=770
770

Average runs of 11 innings = E =70

Ques 96. ANS (C) Solution:

1 - 1% (secd - tan ) _ _ (secf—tan@)
secf+tan@  (secO+tanf)(secl—tanf) sec®@—tan? @

= secf-n0 - gec-tang

Ques 97. ANS (B) Solution:

120°

B c D

Z ACB = 180° - 120° = 60°

AB =AC

5 Z-ABC = Z ACB = 60°

.. £ BAC =60°

Ques 98. ANS (C) Solution:

Required difference = 275 - 50 = 225
Ques 99. ANS (C) Solution:

350
Required percentage = m x100
= @x 100 =@= 58.33%
600 6

Ques 100. ANS (C) Solution:

A l
T
B 5 C
4
Given,2nr=8 —>r= —
s
1 16
Volume = —xmx—x21 = 112 s
3 T o0




